GOVERNMENT GIRLS HIGH SCHOOL SABU RAHU

Bid Evaluation Report

1. Name of Procuring Agency: Government Girls High School Sabu Rahu

2. Tender Reference No: Government Girls High School Sabu Rahu (S.No 26211)

3. Tender Description/Name of work/item: Purchase of In Class Material, Lib-Lab & Stationery items

4. Method of Procurement: Single Stage two envelop

5. Tender Published:

SPPRA ID. No 2147483647 dated 21 Jan, 2016

6. Total Bid documents Sold; Four (04)

7. Total Bids Received:

Four (04)

8. Technical Bid Opening date: (if applicable) 08-02-2016 (Provide details in separate form)

9. No. of Bid technically qualified (if applicable): Four (04)

10. Bid(s) Rejected:

NIL

11. Financial Bid Opening date: 12-02-2016

12. Bid Evaluation Report:

| S No | Name of Firm or Bidder | Cost offered by the Bidder | Ranking in terms of cost | Comparison with Estimated cost | Reasons for acceptance/rejection | Remarks |
|------|------------------------------|---|--------------------------------|---|---|---------|
| 0 | 1 | 2 | 3 | 4 | 5 | 6 |
| 1. | ABM Enterprises | In Class Material RS. 248,226 Lib-Lab Rs. 235,102 Stationery items Rs. 84,881 | | 2 nd in inclass material, Lab- Lib and Stationery | Rejected due to high rates | |
| 2. | M. Jameel Furniture Mart | In Class Material Rs. 236,012 Lib-Lab not quoted Stationery not quoted | | 1 st in inclass Material | Accepted for In class material due to low rates | |
| 3. | Latif Enterprises | Stationery Rs. 82,426 Lab-Lib not quoted In class not quoted | | 1 st in Stationery items | Accepted for stationery items due to low rates | |
| 4. | Mukhtiar Enterprises | Lib-Lab Rs. 127,375 Stationery not quoted In class not quoted | | 1 st in Lab-Lib items | Accepted for Lab-Lib items due to low rates of | |

ILIMUDDAIN DAHRI Assistant Engineer (Buildings) Member (Works & Services) Shaheed Benazir Abad

tasneem & PScarotas

Mulana Tunas Milana Salas Salas Salas Salas Rahu

GOVERNMENT GIRLS HIGH SCHOOL SABU RAHU

NIT No. Government Girls High School Sabu Rahu (S.No. 26211)

Method and procedure of procurement: National Competitive Bidding (Single Stage - two Envelope)

MINUTES OF BID OPENING MEETING FINANCIAL PROPOSAL

A meeting of the procurement committee of this department was held on 04.00PM dated 12-02-2016 for opening the bids received in respect of subject NIT till the deadlines of submission. The meeting was attended by all/ following members of the procurement committee and the representative of bidders.(Attendance sheet is enclosed).

The following bidders attended the bid opening meeting:

- 1) ABM Enterprises
- 2) M. Jameel Furniture Mart
- 3) Latif Enterprises
- 4) Mukhtiar Enterprises

The bids were opened in the presence of the above mentioned participants and the rates quoted by bidders were read aloud and encircled by Chairman of the Procurement Committee. All the members of the procurement committee signed each and every page of financial proposal/bids. The bids do not contain any over-writing or cutting. (Also mention cuttings or over writing if any). Following is the details of bids announced:

| S. No. | Name of Bidder | Offered Price | Amount of Bid Security | Pay Order No./ |
|--------|-----------------------------|---|---------------------------|------------------------------|
| 1 | ABM Enterprises | In Class Material RS. 248,226 Lib-Lab Rs. 235,102 Stationery items Rs. 84,881 | Rs. 10,000 | 0803664, dated 08 Feb. 16 |
| 2 | M. Jameel Furniture Mart | In Class Material Rs. 236,012 Lib-Lab not quoted Stationery not quoted | Rs. 4,721 | 0000952, dated 08 Feb, 16 |
| 3 | Latif Enterprises | Stationery Rs. 82,426 Lab-Lib not quoted In class not quoted | Rs. 2,500 | 9544445, dated 06 Feb, 16 |
| 4 | Mukhtiat Enterprises | Lib-Lab Rs. 127,375 Stationery not quoted In class not quoted | Rs. 2,000 | 9544444, dated 08 Feb, 16 |

The committee shall examine all the bids as per the Qualification/ eligibility criteria provided in the bidding documents, arithmetical checks and verify the documents and bid security by the bidders.

The meeting ended with the note of thanks to and from the chair.

ILIMUDDAIN DAHRI
Assistant Engineer (Buildings) Member
(Works & Services)
Shaheed Benazir Abad

Tasneam Si Teadrer Mulammad Ilyns

GOVERNMENT GIRLS HIGH SCHOOL SABU RAHU

NIT No. Government Girls High School Sabu Rahu (S.No. 26211)

Method and procedure of procurement:

National Competitive Bidding (Single Stage – two

Envelope)

MINUTES OF BID OPENING MEETING

(Technical Proposal)

A meeting of the procurement committee of this department was held on 04|30PM dated 08-02-2016 for opening the bids received in respect of subject NIT till the deadlines of submission. The meeting was attended by all members of the procurement committee and the representative of bidders. (Attendance sheet is enclosed).

The following bidders submitted their bids till the deadline of submission:

- 1) ABM Enterprises
- 2) M. Jameel Furniture Mart
- 3) Latif Enterprises
- 4) Mukhtiar Enterprises
- 5) Burrag Business Corporation

The bids were opened at 05.00PM in the presence of the above mentioned participants and the documents established with bids by bidders were read aloud by Chairman of the Procurement Committee. The technical evaluation was carried out before the bidders. (Copy Enclosed)

Assistant Engineer (Buildings) Member (Works & Services)

Shaheed Benazir Abad

osmery and my

OFFICE OF THE HEAD MISTRESS GOVERNMENT GIRLS HIGH SCHOOL SABU RAHU SHAHEED BENAZIRABAD

Comprative Statement of In-Class Material & Supplies Items

| | Comprative Statement of I | | | lameel | | |
|-------|---|---------|--------|-----------|----------------|---------|
| S.No | Description | Quantit | Furnit | ure Mart | ABM Enterprise | |
| | | Quantit | Unit | | Unit | _ |
| 1 | White Board | | Rate | Total | Rate | Tota |
| | | 8 | 8,650 | 69,200 | 8,850 | 70, |
| 3 | Cardio Vasular System Chart Drawing Paper RIM | 2 | 689 | 1,378 | 715 | 1, |
| 3 | Markors Romandal C. Link | 5 | 1198 | 5,990 | 1260 | 6, |
| 1 | Markers Removable for white board pkts Wall Clock | 10 | 695 | , , , , , | 735 | 7, |
| | | 10 | 1750 | 17,500 | 1850 | 18, |
| | Amoeba Chart in Penaflex 2x4 | 10 | 689 | 6,890 | 730 | 7, |
| 5 | Digestive System of Frog Chart in Panaflex | 10 | 689 | 6,890 | 730 | 7, |
| 6 | Eye Chart in pena flex | 2 | 689 | 1,378 | 730 | 1, |
| 6 | Earth History chart in penaflex | 2 | 689 | 1,378 | 730 | 1, |
| 7 | Earth moon chart in penaflex | 1 | 689 | 689 | 730 | |
| - 0 | Verb chart in penaflex | 1 | 689 | 689 | 730 | |
| 10 | Periodic Table of Elements Chart in Panafle | | 689 | 689 | 730 | |
| 10 | Chemistary defination chart in penaflex | 2 | 689 | 1,378 | 730 | 1,4 |
| 10 | Physics Definition Chart in Panaflex | 2 | 689 | 1,378 | 730 | 1,4 |
| 111 | Biology Definition Chart in Panaflex | 2 | 689 | 1,378 | 730 | 1,4 |
| 12 (| Sound system chart in penaflex | 1 | 689 | 689 | 730 | 7 |
| 12 3 | Student house display chart in penaflex | 1 | 689 | 689 | 730 | 7 |
| 12 1 | Nervous System Chart in Panaflex | 2 | 689 | 1,378 | 730 | 1,4 |
| 13 1 | Punctuation Chart in Panaflex | 1 | 689 | 689 | 730 | 7 |
| 13 (| Geometry Chart in Panaflex | 1 | 689 | 689 | 730 | 7 |
| 14 [| Normal Fraction Chart in Panaflex | 1 | 689 | 689 | 730 | 7 |
| 14 1 | Decimal Fraction Chart in Panaflex | 6 | 689 | 4,134 | 730 | 4,3 |
| 15 6 | Paramecium chart in Panaflex | 6 | 689 | 4,134 | 730 | 4,3 |
| 13 8 | Sindhi Peoms Charts in Panaflex | 6 | 689 | 4,134 | 730 | 4,3 |
| 16 (| Jrdu Poems Chart in Panaflex | 6 | 689 | 4,134 | 730 | 4,3 |
| 10 A | Arabic Verses Chart in Panaflex | 6 | 689 | 4,134 | 730 | 4,3 |
| | Heart Chart in Panaflex | 6 | 689 | 4,134 | 730 | 4,3 |
| 17 L | ungs Chart in Panaflex | 6 | 689 | 4,134 | 730 | 4,3 |
| 18 B | Brush for Drawing (SeT) | 6 | 1390 | 8,340 | 1490 | 8,9 |
| 10 D | Vater Colour Boxes Large | 6 | 3490 | 20,940 | 3710 | 22,20 |
| | Orawing Sheet 20x30 | 8 | 71 | 568 | 91 | 7: |
| | Ouster NED CV SEVED 2011-1975 | 20 | 72 | 1,440 | 85 | 1,70 |
| 20 E | NERGY SEVER 32WATT | 20 | 498 | 9.960 | 549 | 10,98 |
| 21 N | HAK Cartoon (Small box of Dozen) | 2 | 3840 | 7,680 | 3910 | 7,82 |
| | umber Block of base five | 5 | 635 | 3,175 | 710 | 3,55 |
| | hart of Math | 5 | 689 | 3,445 | 730 | 3,65 |
| | hart of fruit | 5 | 689 | 3,445 | 730 | 3,65 |
| | lephabatical chart | 5 | 689 | 3,445 | 730 | 3,65 |
| | umerical chart | 6 | 689 | 4,134 | 730 | 4,38 |
| | hart of vegitable | 6 | 689 | 4,134 | 730 | 4,38 |
| | hart of body part | 6 | 689 | 4,134 | 730 | 4,38 |
| | nart of body part | 4 | 689 | 2,756 | 730 | 2,92 |
| .5 1a | p Solution Pkt | 2 | 450 | 900 | 499 | 99 |
| | | OTAL | | 236,012 | | 248,220 |

LIMUDDAN DAHRI
Assistant Engineer (Buildings) Member
(Works & Services)
Shaheed Benazir Abad

Tosvern S.T

Tasneem St. Ta/secretary Sapu Talit

OFFICE OF THE HEAD MISTRESS GOVERNMENRT GIRLS HIGH SCHOOL SABU RAHU COMPERATIVE STATEMENT

Library & Laborty M/S LATIF ABM ENTERPRIZE M/S JAMIL M/S MUKHTIAR **ENTERPRIZE N.SHAH NAWABSHAH FURNITURE** ENTERPRIZE SR MART N.SHAH NAWABSHAH DESCRIPTION No Package Price Package Price Package Price Package Price Qty 1 White Papers Reems 80gms A4 "AA" 2 2 White Papers Reems 80gms Legal "AA" 20 2 3 Accounts Ledger 5 4 Plain Register 300 Pages 5 Ball Point Pens Blue Pkt 5 6 Ball Point Pens Black Pkt 5 10 7 Ball Point Pens Red Pkt 100 8 Correction pen/ Whito 100 9 Examination Report 100 10 File Cover Pakka 1 11 Muster Roll 10 12 Cash Book 10 Students Attendance Register (100 13 Students) 14 Highlighter Per (Different Colours) 25 15 Board Markers ink Pkt 25 10 16 Colour Paper Pkt 17 Colour card 18 Envelpo Size 9*4 pkt of 100 12 19 Envelpo Size 11*5 pkt of 100 20 NOT QUOTED 82,426 NOT QUOTED NOT QUOTED 20 Staplers Large Size 1 2 21 Staplers Standard Size 14 22 Stapler Pins Pkt 3 23 Punch Mahine 24 Student Id Card 20 25 Pencil Hb (Pkt) 4 10 26 Pencil 2b (Pkt) 27 File Pakka 28 File Kacha 50 29 Glue Stick Small 2 30 Glue Stick Large 4

6

6 28

3

5

ILIMUDDAIN DAHRI
.ssistant Engineer (Buildings) Member Shower Benazir Abad

31 Glue Bottle small

32 Glue Bottle Large

34 Register 500 pages 35 Ledger register

36 White Board Marker Black 37 White Board Marker Blue

38 White Board Marker Red

33 White sheets

39 Rubber Pkt

Tasnoem surday

OFFICE OF THE PRINCIPAL GOVERNMENT GIRLS HIGH SCHOOL SABU RAHU COMPERATIVE STATEMENT

Library & Laborty

| | | Libra | ry & Labort | <u>Y</u> | | | | | |
|-------|---|---------------|-------------|---------------|-----------|---------------|-------|---------------|--------------|
| | | M/S ML | JKHTIAR | M/S ABM EN | ITERPRIZE | M/S | LATIF | M/S N | A.JAMIL |
| SR | | ENTER | RPRIZE | NAWABSHAH | | ENTERPRIZE | | FURNITURE MAR | |
| No | DESCRIPTION | NAWABSHAH | | | | NAWABSHAH | | NAWABSHAH | |
| 140 | 1 - | Package Price | | Package Price | Bid | | | Package | Bid Secruity |
| 1 | Glass Tube (Gram) | | | | Secruity | | - | Price | |
| | Oxford English Sindhi Dictionary | | | | | | | | |
| | Feroz-U-Luggat Urdu To Urdu Dictionary | | | | | | | | |
| | Sindhika Lugat Sindhi To Sindhi | | | | | | | | |
| | Shah Jo Risalo By Kaliyan Adwani | | | | | | | | |
| | | | | | | | | | |
| | Oxford English To English Dictionary | | | | | | | | |
| | English Darsi Kitab | | | | | | | | |
| | English Grammar | | | | | | | | |
| | United English Gramamar | | | | | | | | |
| - | Engmilsh Translation Book | | | | | | | | |
| | Brain Model | | | | | | | | |
| _ | Eye Model | | | | | | | | |
| | Heart Model | | | | | | | | |
| | Kidney Model | | | | | | | | |
| (0.8) | Paramacium Model | | | | | | | | |
| | Uglena Model | | | | | | | | |
| 17 | Ear Model | | | | | | | | |
| | Nose Model | | | | | | | | |
| 19 | Digestive System Model | | | | | | | | |
| 20 | Digestive system Model | | | | | | | | |
| 21 | Parrafin | 127,375 | 2000 | 235,102 | 10,000 | NOT QUOTED | N/A | NOT QUOTED | N/A |
| 22 | Fussion Tube | | | | | QUUTED | | QUUTED | |
| 23 | Ph Paper | | | | | | | | |
| 24 | Litmus Paper | | | | | | | | |
| 25 | Filter Paper | | | | | | | | |
| 26 | Droppler | | | | | | | | |
| _ | Strrir | | | | | | | | |
| | Gas Jar | | | | | | | | |
| - | Gas Burner | | | | | | | | |
| | Watch Glass | | | | | | | | |
| - | Pippet | | | | | | | | |
| | Beakers 250 ml | | | | | | | | |
| - | Spirit Lamp | | | | | | | | |
| | Electric Battery | | | | | | | | |
| - | | | | | | | | | |
| - | Forcep | | | | | | | | |
| | Spatula | | | | | | | | |
| - | Wash Bottle 500ml | | | | | | | | |
| _ | Indicator Bottle | | | | | | | | |
| | Keaf | | | | | | | | |
| | File (Glass Kuter) | | | | | | | | |
| | Behive Shelf | | | | | | | - | |
| - | Water Tub | | | | | | | | |
| - | Cork | | | | | | | | |
| | Am Meter | | | | | | | | |
| - | Thustle Funnel 500 ml | | | | | | | | |
| - | Phena Phethlene Indicator | | | | | | | | |
| _ | Therma Meter | | | | | | | | |
| | Naoh Sadium Hydreroxide per Kg | | | | | | | | |
| _ | Oxalic Acid 500 ml | | | | | | | | |
| | Sulphuric Acid | | | | | | | | |
| - | Corbon Tetra Chloride | | | | | | | | |
| - | Methyle Orange | | | | | | | | |
| - | Sodium Zneulite (Naal ₂ sio ₄) | | | | | | | | |
| 54 | Hyderochloric Acid | | | | | | | | |
| _ | Zinc 250 g | | | | | | | | |
| 56 | Hyderogen Peroxide | | | | | | _ | | |
| | Sodium Metal | | | | | | | | |

'LIMUDDAIN DAHRI .ssistan: Chaineer (Buildings) Member (Visins & Services)." Sinhued Benazir Abad

Tasnoem de secretar

Salu Told

| 58 | Sulphur Powder |
|----|-----------------------------|
| 59 | Nitric Acid |
| 60 | Watch Glasses |
| | Geometry Box |
| - | Compound Microspoper |
| | Electronic Microscopes |
| | Bacteria Slides |
| | Cocci Slide |
| | Bacilli slide |
| | Spirilla Slide |
| | Spang Slide |
| | Jelly Fish Specimen |
| | Obelia Specimen |
| - | Dog Urchans Specimen |
| | Tap Worm Specimen |
| | Ascaris Specimen |
| 74 | Leach Specimen |
| 75 | Earthworm Specimen |
| | Snail Specimen |
| 77 | Star Fish Specimen |
| | Castor Oil Seed |
| 79 | Gram Seed |
| 80 | Maize Seed |
| 81 | Corer Slips PKT |
| 82 | Plane Slide PKT |
| 83 | Amoeba Slide |
| 84 | Paramecium Slide |
| 85 | Clamydomonas Slide |
| 86 | T.S Of Root (Brassca) Slide |
| 87 | T.S Of Stem Slide |
| 88 | T.S Of Leaf Slide |
| 89 | Spirogyra Slide |
| 90 | Pinus Male Cone Slide |
| 91 | Bell Jars Slide |
| 92 | Funnel Slide |
| 93 | Frog Digestive System Slide |
| 94 | Artenal System |
| 95 | Nervious System |
| | Solid Cylinder |

ILIMUDDAIN DAHRI Assistant Engineer (Buildings) Member (Works & Services) Shaheed Benazir Abad

Tasnoeur St. Tr/secitary.

Govt Ciris/High St.

| | | \vdash | |
|--|-----|----------|---|
| | | 1 | • |
| | | ۲ | |
| | | - | |
| | | ۲ | |
| | | 1 | |
| | | (| |
| | 1 | • | |
| | 1 | | |
| | 1 | | |
| | ١ | | |
| | 1 | | |
| | - 1 | | |

Method and procedure of procurement: Open Competitive Bidding (Single Stage - two Envelope)

Description of work: Inclaus Maderial | stationary / Lib / Lab.

Name of Bidder:

BIDDERS' ELIGIBILITY/ QUALIFICATION REPORT

Eligibility/ Qualification Criteria:

| | 6. | 5. | 4. | 3. | 2. | 1. | | Sr No |
|---|----|----------|--------------------------|--------------|-----------|---------------------|---------------------------------|---------------------------|
| | | 8, B. C. | M. Janual Enter Biges | Enterfailer. | Multarias | A.B.M Interprise | | Name of Vender |
| | | 35 | 1 | 1 | ١. | 1 | | Specification & Brochures |
| | | 6 | 0 | 100 | 10 | 10 | completed in last 3year | Supplies of similar task |
| | | 1 |) | 1 | 1 | | tasks in hand | Supplies of similar |
| | | 7 | 10 | 10 | 10 | 0 | 0.5 Million | Available Bank |
| | | . 1 | 0 | 10 | 3 | 0 | Federal Board of Revenue | Registration |
| | |) | 1.6 | 10 | 10 | 10 | decision went against the Firm. | Litigation History |
| - | |) | 10 | 10 | 6 | 9. | from any Agency | Platiting |
| | |) | 25 | 15 | 15 | 15 | Active Tax Payer | |
| | | 1. | 15. | 15. | 15. 2 | 15. | with Sales tax dept | Registration |
| | | 8 | 80 | 80 | 8 | 80 | | |

Note: The procuring agency may modify the criteria as percheir requirements.

Gover, Girls elign serieol Salas Salas

Assistant Engineer (Buildings) Member (VOUS & Services)
Shaheed Benazir Abad

GOVERNMENT GIRLS HIGH SCHOOL SABU RAHU DISTRICT SHAHEED BENAZIR ABAD OPENING OF FINANCIAL PROPOSAL ATTENDANCE SHEET OF PROCUREMENT COMMITTEE

| | | | | SR NO |
|--|----------------|-------------|--------------------|-------------|
| | Immeddin Dahri | Sycen | M. ILXIE KAMBASASA | NAME |
| | A.E.N | | D. Do Pre Chain | DESIGNATION |
| | 03013808022 | 0334364969) | 03342/2577 | CONTACT NO |
| | ~ | 1 asnew | style a | SIGNATURE |

GOVERNMENT GIRLS HIGH SCHOOL SABU RAHU DISTRICT SHAHEED BENAZIR ABAD OPENING OF TECHNIAL PROPOSAL ATTENDANCE SHEET OF PROCUREMENT COMMITTEE

| | S |
|----------------------|-------------|
| | SR NO |
| Millyas Mhanzada Pro | NAME |
| AER Chancy | DESIGNATION |
| 03342125776 | CONTACT NO |
| Joseph James | SIGNATURE |

GOVERNMENT GIRLS HIGH SCHOOL SABU RAHU DISTRICT SHAHEED BENAZIR ABAD OPENING OF TECHNIAL PROPOSAL ATTENDANCE SHEET OF CONTRACTOR

| | | | | SR NO |
|--|-------------------------------------|-------------------|--------------------|-------------|
| Mukhtiar Hasson | Abolul Godix | M. Rasheed | Chulam Toffer | NAME |
| Mukhtias Enterprize | M. Jamil Furniture Mout 03063146413 | Latif Enterprizes | A.B.M Easterprizes | DESIGNATION |
| 03003453524 | 03063146413 | 0303207077 | 84 C3CEE 8080 | CONTACT NO |
| The state of the s | Partners. | Span | Alik | SIGNATURE |

GOVERNMENT GIRLS HIGH SCHOOL SABU RAHU DISTRICT SHAHEED BENAZIR ABAD OPENING OF FINANCIAL PROPOSAL ATTENDANCE SHEET OF CONTRACTOR

7

| | 5 W | ۲ | _ | SR NO |
|-----------------|------------------|-----------------------|------------------|-------------|
| Mukhtiak Hassan | Rashreed E. | Abdul Gadin M. Salsen | Chilam Jappan | NAME |
| Mulcher Entry | letif Enterprise | M. Jamil Fu | A.B. M Enterpris | DESIGNATION |
| 4555150850 | 030037077 Raylee | 080214643 A.J. | AV 8 4 4 101 15 | CONTACT NO |
| Effens! | | A. J. J. | 4/ // | SIGNATURE |